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#TWO POINT BOUNDARY VALUE PROBLEM
ARRAY GK(249), GK1(249), Z1(10,249)
YO=0.
YN=0.
N=10
DELTA=0.1
K=N
CMIN= —0. 144
CMAX=0.101
ZMIN=—0.36

ZMAX=—0.06
C=CMIN

10 I=Cx1000. +145.
Z=(YN—C)/DELTA
W=(Z12+C12—FLOATF(K —1)%2)*C

+DELTA)*DELTA

Z1(K, D=2
GKI(I)=W
C=C+0.001
IF(C—CMAX)10,10,20

20 K=K—1

40 CMIN=CMIN+FLOATF(K —1)%0.004
CMAX=CMAX —FLOATF(N —K —2)+0.003
ZMIN=ZMIN+0.04
ZMAX=ZMAX+0.03
C=CMIN

50 I=Cx1000. +145.
SMA=1000.
Z=ZMIN

60 J=(Z*DELTA+C)*1000. + 145.
W=(Z 1 2+C12—ELOATF((K —1)#2)*C

+DELTA)+DELTA +GK1(J)

IF(SMA —W)80,80,70

70 SMA=W
v=z

80 Z=Z+0.01
IF(Z—ZMAX) 60,60,90

90 Z1(K, D)=V
GK(I)=SMA
C=C+0.001
IF(C—CMAX) 50,50, 100

100 DO 110 1=1,249

110 GK1(1)=GK(I)
K=K—1
IF(K) 130,130,40

130 K=0
YK=YO

140 XK=FLOATF(K)*DELTA
Ki=K+1
I1=YK*1000. +145.
W=21(K1,I)
TYPE230, W, XK, YK
YK =W+DELTA + YK
K=K+1
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90

IF(K—N) 140,150,150 2 £ X ®
150 TYPE 240, YK OB R R EAE, 2R R

STOP » SEHERER ; BB HER, A
230 FORMAT(3E10.3) R.E.Bellman and S.E.Dreyfus; Applied Dynamic
240 FORMAT@OXELO'B) Programming, Princeton Univ. Press

END
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